ICP Quiz 1

Name
ICP Quiz 1 33 points

1. Aresearcher conducts an experiment to test the effects of alcohol on people's sense of
balance. He divides his subjects into three groups: in one group the participants drink one
ounce of alcohol, in another they drink two ounces of alcohol and in a third group the
participants drink soda (no alcohol). He then watches as each participant tries to walk on a
straight line from one corner of the room to the next and notes how many times they stumble
outside the line. The group that drank 2 ounces stepped outside 6 times. The group that
drank 1 ounce stepped outside 3 times. The group that drank soda did not step off the line.
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Create a graph. Remember to:
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Use the stair steps to convert the following units:
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Kilo-

Hecto-

gams

Deka- liters
melers

Base Unit

Deci-

Centi-

Milli-

1. How many kilometers are in 45,000 m? (1 point)

45000 » =

2. How many millimeters are in 4 m? (1 point)
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Equations:

Directions: Use the equation above to answer the following questions. Show your work and include
the units.

1. A soccer field is about 50 m long. If it takes a person 15 seconds to run its length, how fast (what
speed) were they running? (2 points)
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2. The pitcher’'s mound in baseball is 70 m from the plate. It takes 4 seconds for a pitch to reach the
plate. How fast is the pitch? (2 points)

&'—70*"" % = “70m
L= ys Hs
5= s it

- 3'.‘.

If you drive at 100 km/hr for 6 hours, how far will you go? (2 points)
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4. A bullet travels at 925 m/s, How long will it take a bullet to go 1500m? (2 points)
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5. How long will it take light moving at 300,000 km/s to reach us from the sun? The sun is
15,000,000 km from earth. (2 points) e 4
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6. What does the slope on a distance versus time graph represent? (1 point)
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7. This is a graph of an airplane’s time vs. distance. Find the plane’s velocity. (2 points)
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Use the following graph to answer questions 17-19
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8. Between which times, was the car motionless (not moving)? (example: between 10 and 12
hours) (1 point) mokionless = Lime car 15 rof pevig
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9. Between which times was the speed of the car the fastest? How do you know? (1 point)
You have +o find  slope.
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10. What was the average speed of the car during the trip? (2 points) 3 50_‘5__‘;"I
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11. What is the difference between speed and velocity? (1 point)
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12. What is acceleration? (1 point) ‘
Awida\'i'ur" 15 +he rate at vdaaih \/-HQM*') L%ﬁm3€5

13.What's the difference between mass and weight?
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